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SOCIAL - 1 (25 MARKS)
SECTION - |
'/, mark questions. 20x '/, =10
Find out odd one.
Tata Motors, Infosys, Ford Motors, Ranbaxy.
Expand WTO.
IBRD : The International Bank for Reconstruction and Development
DU ADA L s

Recent studies point out that small producers in India need some of the things to compete
better in the market. Which thing would help them?

(i) Better roads and other infrastructure facilities.

(i) improvement and modernisation of technology.

(i) Timely availability of credit at reasonable interests rates.
The Current membership of WTOis ...........c........

Point out the wrong set.

(i) Rapid integration of countries  —  Globalisation.
(i) Taxes on imports —  Trade barriers.
(iii) Removing barriers - SEZ

Among the following which is an American MNC?

A) Cocacola B)Honda  C) Nokia D) Volks wagen
Underline the statement, which is related to fair Globalisation.
(i) All the educated people should benefit.

(i) Support the small producers.

(iif) Create opportunities for all.
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Statement|: Chinese toys became popular in the Indian markets.
Statement Il USA's voting rate in Wolrd Bank and IMF is valued at 16%.
A) only | correct B) only Il correct

C) l and Il correct D) I wrong and Il correct

SEZ: Special Economic Zones:: MNC: .................

Find out wrongly matched pair.

TataMotors  — Automobiles.

Infosys — Software

Ranbaxy — Nuts and botts.

Cargil Foods : Parakh Foods : : Fordmotors : ................

In October — December ................... is cultivated in Rampur as third Crop.
Expand HYV.

The correct set of matching.

Column - A Column - B

i) Persian wheel a) Irrigation

ii) Dairy b) Non - agricultural activity

i) Tube wells c) Rajasthan

A) i-a, ii-b, iii-c B) i-c, ii-b, iii-a C) i-c, ii-a, iii-b D) i-b, ii-a, iii-c

Underline the sentence which is not the effect on Fertility of land
i) Over use of natural resources.
ii) Excessive use of Chemical fertilisers.
iii) Tapping of underground water.
Raw materials and money from under which capital?
Find the odd one out.
i) Plough ii) Money iif) Machine iv) Tractors
Land: Rent:: Labour :.....ccccc.......
Who will fix the minimum wages for the workers?
SECTION - 1I
1 mark questions. 15x1=15
What is the standard unit of measuring land?
Why are tools, machines and buildings considered as fixed capital?
What do medium and large farmers do with their earnings from surplus farm produce?
"It is important to increase the area under irrigation". Why? Write any two reasons.
What are the factors of production?
What are the reasons for multiple cropping in a rural areas?

Globalisation will continue in the future. Can you imagine what the world would be like
twenty years from now. Give any two reasons for your answer.
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What is Globalisation?

Differenciate between foreign trade and foreign investment.

What arrangements made by governments in India to attract MNC's?
What is "Arab Spring"? Who played an important role in it?

What is the main motive behind the establishment SEZs?

How would flexibility in Labour Laws help companies?

How has competition benefited people in India?

When was the WTO established and where is its headquarters?




